AHIF AUSR ouT I GROSS  HDCP NET
e B B F— 41| 37 18 9.0 69.0
Al (KE &R 38| 37 75, 5.0/ 70.0
3L PEH I 41 34 15 3.0 72.0
A5 BEiE = 43| 38 811 9.0/ 72.0
hisi R E= 36| 36 120 0.0 72.0
6(ii {ApE IEX 40| 36 76/ 3.0/ 73.0
a1 278 &1 40| 38 78, 5.0/ 73.0
8L FHE fEX 43 41 84! 11.0 73.0
i & EZ 41| 42 83 10.0/ 73.0
10 RE E= 39| 40 79 6.0/ 73.0
14 e #a 20420 | 82 9.0 73.0
1260 |5 1EFE 39| 41 80 7.0 73.0
136 EAK = 44| 41 85 11.0/ 74.0
140 /DFR R 43| 43 86/ 12.0/ 74.0
154 = EE 40/ 41 81| 7.0/ 74.0




Al BYSR 0UT IN GROSS  HDCP NET
B B g Flz 40| 41 811 17.0] 64.0
R RA ZE 4950 | 99 34.0 650
3 J;%. 43! 42 85 19.0/ 66.0
4451 Fik p,E 39| 42 81 15.0 66.0
hiiL *E K B 45| 44 891 22.0/ 67.0
6L T RN 48/ 43 | 91/ 23.0/ 68.0
EARE =R N 46| 48 94| 26.0 68.0
8l B RZ 43 41 84/ 15.0 69.0
O [ A¥ S 45| 54 99/ 30.0/ 69.0
1052 (#2om Wl 46! 40 86/ 16.0, 70.0
11462 | J& E=H 53/ 531|106/ 36.0/ 70.0
1240 |/ 25 42| 43 85 15.0/ 70.0
13 | 7T ‘ﬁ.m 44| 46 90/ 20.0 70.0
1460 #z]R FE® 44 4711 1 91 21.0] 70.0
1546 (B E_% 511 44 951 24.00 71.0




BHw LT4—RA our IN GROSS  HDCP NET

2 % 36/ 36 721 6.0/ 66.0

AE{E 40! 40 80 13.0 6/.0
Ak 44| 37 811 10.0 71.0
441 46 40 86, 15.01 71.0
h{iL 41 39 80/ 9.0/ /1.0
64iL A1) 46 87 15.0 /2.0
JR i 44, 50 94 22.00 /2.0
8 =i 46 42 88 15.0/ 73.0
Ofi |{E4 K 40 39 719 6.0 /3.0
106 &E 377400 | 770 4.0 73.0
14 |FHH8 520490 101 26.0] 75.0
1260 F T M 39| 42 811 6.0/ 75.0
13462 |Th#! 41) 37 78 2.0 76.0
1440 |12 3% 43 41 84 8.0 76.0
1540 & 43| 44 87 11.0/ 76.0|




